DIVISION WITH A REMAINDER (H - SET 2)

DIVISION WITH 1 TO 10 Name:
Time: Score: A
151 4261 + 1 = 166) 32859 + 6 =
152) 39940 + 5 = 1067 32216 + 4 =
153 91989 + 10 = 16816910 +9 =
154 22330 + 10 = 169 57014 =7 =
1) 82474 + 9 = 170) 4097 + 3 =
156 6906 + 2 = ) bl =2 =
157 14870 + 9 = 172) 33158 + 6 =
158) 42398 + 6 = 173) 7421 + 6 =
159) 49387 =— 5 = 174 29464 + 9 =
160) 53669 + 10 = 175 8250 +4 =
161) 6882 = 4 = 176) 10297 = 2 =
162) 13753 + 10 = 1) 15427 + 2 =
163) 2085 = 1 = 178) 72876 -9 =
60 2790 + 1 = 17) 8788 +1 =
165 4003 = 5 = 150) 9261 + 2 =
Mathematics: Division - Level 7 - Horizontal - Set 2 7 culu
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